
«	
  Lecture	
  robot	
  »	
  	
  

(juste	
  mais	
  non	
  signifiante)	
  donc	
  nécessaire	
  mais	
  pas	
  suffisante	
  

	
  

En	
  France	
  en	
  2015	
  le	
  taux	
  de	
  chômage	
  était	
  de	
  10%	
  	
  :	
  	
  

c’est-­‐à-­‐dire	
  que	
  la	
  part	
  des	
  chômeurs	
  dans	
  la	
  population	
  active	
  était	
  de	
  10%	
  	
  

c’est-­‐à-­‐dire	
  que	
  10%	
  des	
  personnes	
  voulant	
  travailler	
  ne	
  trouvaient	
  pas	
  d’emploi.	
  

En	
  France	
  en	
  2015,	
  le	
  taux	
  de	
  variation	
  du	
  chômage	
  était	
  de	
  10%.	
  

En	
  France	
  en	
  2015	
  la	
  part	
  de	
  taux	
  de	
  chômage	
  était	
  de	
  10%.	
  

	
  

En	
   France	
   en	
   2015,	
   le	
   taux	
   de	
   variation	
   de	
   l’indice	
   des	
   prix	
   à	
   la	
  
consommation	
  était	
  de	
  0%	
  par	
  rapport	
  à	
  2014	
  	
  

c’est-­‐à-­‐dire	
  que,	
  en	
  moyenne,	
  l’ensemble	
  des	
  prix	
  en	
  France	
  n’a	
  pas	
  varié	
  entre	
  2014	
  et	
  2015	
  (ni	
  
hausse	
  ni	
  baisse).	
  

c’est-­‐à-­‐dire	
  que	
  les	
  prix	
  n’ont	
  ni	
  augmenté	
  ni	
  baissé	
  de	
  2014	
  à	
  2015.	
  

En	
  France	
  en	
  2015,	
  les	
  prix	
  n’avaient	
  pas	
  changé	
  depuis	
  2014.	
  	
  

En	
  France	
  en	
  2015,	
  le	
  taux	
  de	
  variation	
  de	
  l’indice	
  des	
  prix	
  (IPC)	
  n’a	
  pas	
  connu	
  de	
  variation.	
  	
  

En	
  France	
  en	
  2015,	
  l’IPC	
  était	
  de	
  0%.	
  

	
  

En	
  France	
  en	
  2015,	
  le	
  PIB	
  a	
  augmenté	
  de	
  1%	
  par	
  rapport	
  à	
  2014	
  

	
  c’est-­‐à-­‐dire	
  que	
  la	
  production	
  sur	
  le	
  territoire	
  français	
  a	
  augmenté	
  de	
  1%	
  entre	
  2014	
  et	
  2015.	
  

En	
  France	
  en	
  2015,	
  le	
  PIB	
  a	
  varié	
  de	
  1%	
  par	
  rapport	
  à	
  2014.	
  

	
  

En	
  France	
  en	
  2015,	
  le	
  solde	
  de	
  la	
  balance	
  des	
  transactions	
  courantes	
  du	
  PIB	
  était	
  de	
  0%	
  	
  

c’est-­‐à-­‐dire	
  qu’il	
  y	
  a	
  eu	
  autant	
  d’importations	
  que	
  d’exportations	
  en	
  2015	
  

c’est-­‐à-­‐dire	
  que	
  le	
  commerce	
  extérieur	
  de	
  la	
  France	
  est	
  en	
  équilibre	
  en	
  2015	
  (X=M).	
  

	
  

La	
  Chine	
  en	
  2015	
  avait	
  un	
  solde	
  de	
  sa	
  balance	
  des	
  transactions	
  courantes	
  de	
  3%	
  de	
  son	
  PIB	
  	
  

c’est-­‐à-­‐dire	
  que	
  la	
  Chine	
  avait	
  un	
  excédent	
  de	
  son	
  commerce	
  extérieur	
  de	
  3%.	
  c’est-­‐à-­‐dire	
  que	
  la	
  Chine	
  
a	
  exporté	
  davantage	
  qu’elle	
  n’a	
  importé	
  à	
  hauteur	
  de*	
  3%	
  de	
  son	
  PIB.	
  

*	
  ce	
  qui	
  équivaut	
  ou	
  représente	
  3%	
  de	
  son	
  PIB	
  


